Finite Mathematics (Math 10120), Spring 2018

Quiz 1, Friday February 2

Name: S0l TTo ,\JS

1. (5 pts) Let A and B be subsets of some universe set U. If n(U) = 40, n(ANB) = 10, there are 22 elements
that are in neither A nor B, and there are 12 elements in A, then how many elements are there in B?
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2. (5 pts) How many different 4-letter “words” (including nonsense words) can be made from the letters
MATHRULES

if one of § of the letters must be an M and no repetition is allowed?

W Ut owx B Be GaHos ot b e 1,

(b) 224

(c) 126 Whidn s A.FFU_uf ﬁ\:M g\j((} U«af'
ﬁ(‘S* QQ.HC’— Mmosh BQ an /\/)

hest Qe | x Px 2« é 33/{
'y "l“i Tw LB
‘ f\rx“'slu" _
Moas cecd o 00w 3 ol - 234
%J 7\,. Tﬂl LH«

M ( ZA—/; [t !L 2, M é
M oas el QoMo 336, 1 Mas G Ol - 23
Tl - 334+ 334+ 334 33¢



